Bean Salad
Objective:  To determine the percent abundance of each isotope in a sample of an element.  To determine the atomic mass for an element from percent abundance.

Materials:  (1 pt) List all materials used during this experiment.

Method and Observations:

Isotopes are atoms of the same element which are chemically the same, but have different physical properties.  Isotopes differ in their atomic masses.  Since atoms are very small we will substitute a larger item, a bean, to represent the different isotopes of our element.

In this activity you will be using different types of beans.  Each bean will represent an isotope of the new element pintonium.  Using the masses of your beans, find the average atomic mass of your element, pintonium.  Be sure to show one sample of all your calculations with the correct units and sig figs.

DataTable (5 pts)
	bag # (only needed once)
	Type of bean
	number of each bean
	mass of all that bean
	average mass of bean
	percent abundance

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	



Grand total of all beans=                                    

Calculations and Results:  MUST ONE SAMPLE CALC. WITH UNITS!!!
1.  (1 pt) How many different isotopes were in your container?
2.  (2 pts)Calculate the atomic mass (average mass per bean) of each isotope.

3.  (2 pts) Calculate the percent abundance for each isotope. Leave as a decimal.
4.  (3 pts) Calculate the weighted average atomic mass (molar mass) of your sample.
Wgted avg = (avg mass)(% abund) + (  )(  ) + …
5.  A student obtained the following data when measuring a sample of element X.
	Isotope
	# of atoms
	mass of sample

	A
	40
	400

	B
	160
	1760


Calculate the following:  Show your work!!!!!
a)  (1 pt) Percent abundance of each isotope.

b)  (1 pt) Average mass of each isotope.

c)  (2 pts) The weighted average atomic mass (molar mass) of the element.

d)  (1 pt) Use your answer from part c and the Periodic Table to find the identity of element X.

Conclusion:  (3 pts)The usual!

22 pts








